logVo=-0,35uy~U-]?
log o=—0,35ly-u ]2
l0gL o=—0,35[y~Us7q 2

570

Adapt.: A\, =570

maximum
e \ ® Jog(lL m)=-0,07
R L

m=0,84
Schwellen
t,=0,03, $=0,00

700 A/nm
EG621-1N

Ux=(A-550)/5(
log/Vlo==0,35u\~—u ]2
log ¢=-0,35u\—u ]

0_1_ Ov 0_1_
Adapt.: A, =570

Simum”
% %00l m)=-0,07
L m=0,84
Schwellen
t,=0,03, $=0,00

40
lin:545, 570, 595

n  n Lin-Daten

EG621-3N
Ur=(\—550)/5(

lin:545, 570, 595

L in=2-Lin

o L_In

n _m L_n-Daten
L =(Mg+ o)2=Mipt q

EG621-5N
Uy=(A\—550)/5(
log/Vlo==0,35u\—u 2
log 0=-0,35[,-u ]2
_n—2_ n n—2 n

Adapt.: A, =570

lin:545, 570, 595

2T~ mum-
1 4 .og(L|nm)7 0,07

Inm=1,69

Schwellen
T :=0,03, $=0,00
013 -1 "0~ 1 3 Uy,
400 500 700 A/nm

EG621-7N

log[Mo, o L]

Up=(A-550)/5( logarithm. [V, o, L ]-Daten
L. =(Vo+ o)f2

log
log
log

570

Un=(\— 550)/5
0,35[uy~u:.]?
0=-035k)-u ]2
Lo=-0,35[—Us7d?

Adapt.: A, =570

(o]

~

0
- maximum
°0r 4L \ © log(L .m)=-0,07

.

L -m=0,04
Schwellen
t=0,03, £=0,00

log
log

]-Daten uA:()\_55o)/52

6=-0,350,-U
0=-0,35uy—u
0=1-Mo;  o0=1- o
B Ay =570

4raximum
'IJg(L m)=-0,07
L m=0,84
Schwellen
0,03, £=0,00

log:545, 570, 595

logarithm. [V/, n, Lin]-Daten

EG621-4N

Upn=(A— 550)/5

logarithm. [V, pn, L jn]-Daten
L.=(VMo+ o)f2=Mn+ n

log
[o]s]

570

L =(Vo* o)f2=\in+ n  loghio=-0,35u-u-:]" [ =(Vio+ o)f2=Vint n  loglo=-0,35[n-u..]*
Lin=L =Mt )2 log 0=-0,350-u ]? Lin=L:=(Mn+ n)f2 log 0=-0,35lu,-u ]?
n mlin n=2Mo; n=2 o log[Vin, n, Lin] n=2Mo n=2 o
570 Adapt.: A\, =570 570 Adapt.: A, =570
¢ maximum 0.5 n n maximum
1 (0 - N " Jog(Lnm)=-0,07 1 — log(L |nm)=-0,07
’ L \\ Linm=1,69 - Y Linm=1,69
Ing o\ Schwellen ) X Schwellen
T t:=0,03, $=0,00 t2=0,03, $=0,00
. //
o 13" " -1
400 500

EG621-6N
Up=(A— 550)/5
0=-0,35[u)-u ]
0=-0,35l-u ]2
n—2_ na n—2_ n

A pt Ay =570

/ maximum
/ log(Lnm)=-0,07

Inm=1,69
Schwellen
t=0,03, $=0,00

lin:545, 570, 595

EG621-8N




